Algebra 2

Name:

Welcome Back Review

1. Solve for the specified variable.
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3. Factor.

a y=x"-5x+6

(x=3Xx2)
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d. f(x)=3x>+11x+6
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4. Expand.
a. (x—5)(x+9) b. (2x-5)(3x+7)
X" +aX—49D le—\‘bx*r\%x~3>5
UX" = x-35%
5. Solve for x.
a. x*=16 b. |x—7]=20 c. 3(x=5)" =243
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6. Given the graph find the domain and range.
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c. x: 3x+7=4(x+8)
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b. f(x)=5x"+10x"

Sx* (x+2)

\© e. y=2x* +3x—14x—21

A(Z2x+3) = T(2x +3)
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c. y=x"-9

(X- 5Y>(r5>

f. f(x)=3% +8x* —35x
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c. x(3x—5)(x+4)
x(3x"~ Sx+12x -29)
5X5+ AXT-20x%

d. -3]x-2|=12
\x-2\=-4
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7. Solve using any method.
1
=—x+11
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6y+6=-9x
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8. Sketch a complete graph.
a. y<3x+9

3x-4y=12
—2x+4y=-17
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9. Given the graph, write the equation/inequality.
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y=2x-7

£
y=5x-10

2X~1= B =10
o= B
| = X
W=2-1
W=~D2
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